Pay Estimate Created Date: January 15, 2025

Final Estimate Number 35			221118-C05 deker, Inc.			t December 2, 2024 January 15, 2025	Original C Net Chang Current C	unt	(\$1	649,855.19 52,330.40 97,524.79	
Approval Date										By	User
May 29, 2025			Generate	ed and Appr	oved (a	and should be considere	evel by	karlic1			
May 29, 2025			Reviewed and	d Approved	(and sh	nould be considered Dra	aft) at the Resid	dent Engineer L	evel by		stutsb1
June 4, 2025	4, 2025 Revi					nd Approved at the Cer	tral Office Con	trollers Office L	evel by		ramses1
Original Complet	Original Completion Date Current Completion Date				Actu	al Completion Date	% of (Current Contra	ct Amount	Com	olete
November 1,	2023	Nov	ember 1, 202	3	November 15, 2023 100.00%						
	Contract Inf	ormational I	Dates				Mile	stones			
Date Description	-	Completion Date		Completic Date	n	Date Description	Original Completion	Current Completion	Days Remainin	ig on	Diary Charge
Acceptance Date	May 16, 20	25	May 16, 20	025			Date	Date	Milesto		Days
Awarded Date	December	6, 2022	December	6, 2022		ilestone - Completion ate - JSP B - J4S3414	November 1, 2023	November 1, 2023	Milestone Complete		
Letting Date	Date November 18, 2022 November 18, 2022		Mi	ilestone - Completion	November	November		stone			
Notice to Proceed Date	February 6,	2023	February 6	6, 2023		ate - JSP B - J4S3350	1, 2023	1, 2023	Com	plete	
Work Began Date	August 6, 2	023	August 6,	2023							

Contract Total Pa	y For Estimate No. 35			
		This Estimate	Previous	To Date
221118-C05				
	Total Posted Items Pay	\$0.00	\$6,497,524.82	\$6,497,524.82
	Gross Item Adjustments	\$0.00	(\$61,308.46)	(\$61,308.46)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	(\$37,200.00)	(\$37,200.00)
	Other Contract Adjustments	\$0.00	\$128,931.32	\$128,931.32
			<mark>\$6,527,947.68</mark>	\$6,527,947.68
Contract Total Pa	yable This Estimate:	\$0.00		
<mark>ltems Paid This Es</mark>	timate Period			

No Items Paid This Period

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Cr	ontract Project Informa	tion						
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work						
J4S3350	FAS S303(71)	Coldmill and resurface	210	CLAY	from I-29 to I-435								
J4S3414	FAS S303(55)	Coldmill and resurface	210	CLAY	from I-435 to 0.3 mile west	om I-435 to 0.3 mile west of Route 291							
Totals I	by Job N	umbers											
J4S3350	Gross Incent Disinc Liquid	d Item Pay Item Adjustm tive centive lated Damages Contract Adju	Gross	s Item Pay	This Estimate \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Previous \$3,949,073.58 (\$38,233.51) \$3,910,840.07 \$0.00 \$0.00 \$37,200.00) \$72,682.67	To Date \$3,949,073.58 (\$38,233.51) \$3,910,840.07 \$0.00 \$0.00 \$0.00 \$37,200.00) \$72,682.67						
J4S3414		d Item Pay Item Adjustm		s Item Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$2,548,451.24 (\$23,074.95) \$2,525,376.29	To Date \$2,548,451.24 (\$23,074.95) \$2,525,376.29						
Incentive Disincentive Liquidated Damages Other Contract Adjustments			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$56,248.65	\$0.00 \$0.00 \$0.00 \$56,248.65								



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Value POSTED To Date (See report generated date)

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated. Net Change Order Total Current Quantity Total Posted Approved Qty Contract Project Category Line No. Bid Quantity Item Code Description Unit Unit Price 22 Ci

generated date)		Qty		Quantity	Older					
\$4,883.09	\$4,883.09	1.00	LS	1.00	0.00	1.00	REMOVAL OF IMPROVEMENTS	0010 2022010	0001	18- J4S3350
\$451,460.03	\$84.57	5,338.30	TONS	5,338.30	275.30	5,063.00	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	0020 4011211	0001	
\$1,898,308.58	\$119.58	15,874.80	TONS	15,874.80	-916.20	16,791.00	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP095BSM MIX)	0030 4030009	0001	
\$16,170.00	\$4.40	3,675.00	GAL	3,675.00	-10,522.00	14,197.00	MISC.MODIFIED BONDED ASPHALTIC CONCRETE PAVEMENT	0040 4079912	0001	
\$5,000.00	\$2,500.00	2.00	EA	2.00	0.00	2.00	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	0050 6123000A	0001	
\$27,403.98	\$325.85	84.10	SQYD	84.10	-19.30	103.40	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	0060 6131010	0001	
\$0.00	\$1.00	0.00	SQYD	0.00	-11.00	11.00	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	0070 6131012	0001	
\$0.00	\$1.00	0.00	SQYD	0.00	-11.00	11.00	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	0080 6131013	0001	
\$576.00	\$1.60	360.00	LF	360.00	-63.00	423.00	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	0090 6131014	0001	
\$1,332.00	\$7.40	180.00	EA	180.00	-50.00	230.00	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	0100 6131015	0001	
\$0.00	\$6,739.10	0.00	TONS	0.00	-3.00	3.00	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	0110 6133020	0001	
\$0.00	\$1,310.68	0.00	SQYD	0.00	-14.00	14.00	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	0120 6133021	0001	
\$8,472.00	\$6.00	1,412.00	SQFT	1,412.00	-1,185.00	2,597.00	CONSTRUCTION SIGNS	0130 6161005	0001	
\$180.00	\$45.00	4.00	EA	4.00	0.00	4.00	ADVANCED WARNING RAIL SYSTEM	0140 6161008	0001	
\$9,750.00	\$15.00	650.00	EA	650.00	0.00	650.00	CHANNELIZER (TRIM-LINE)	0150 6161025	0001	
\$1,450.00	\$145.00	10.00	EA	10.00	0.00	10.00	TYPE 3 MOVEABLE BARRICADE	0160 6161030	0001	
\$0.00	\$85.00	0.00	EA	0.00	-115.00	115.00	DIRECTION INDICATOR BARRICADE	0170 6161033	0001	
\$3,990.00	\$1,995.00	2.00	EA	2.00	-6.00	8.00	FLASHING ARROW PANEL	0180 6161040	0001	
\$19,500.00	\$3,250.00	6.00	EA	6.00	0.00	6.00	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	0190 6161099	0001	
\$0.00	\$975.00	0.00	EA	0.00	-8.00	8.00	TEMPORARY LONG-TERM RUMBLE STRIPS	0200 6162002	0001	
\$1,250.00	\$125.00	10.00	EA	10.00	0.00	10.00	MISC.ADA COMPLIANT MOVEABLE BARRICADE	0210 6169902	0001	
\$0.00	\$524,816.54	0.00	LS	0.00	-1.00	1.00	MOBILIZATION	0220 6181000	0001	
\$494,511.54	\$494,511.54	1.00	LS	1.00	1.00	0.00	MOBILIZATION	0221 6181000	0001	
\$31,340.00	\$20.00	1,567.00	LF	1,567.00	-379.00	1,946.00	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	0230 6200015	0001	
\$10,260.00	\$20.00	513.00	LF	513.00	110.00	403.00	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	0240 6200018	0001	
\$16,170.00	\$245.00	66.00	EA	66.00	-10.00	76.00	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	0250 6200021	0001	
\$6,975.00	\$225.00	31.00	EA	31.00	2.00	29.00	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	0260 6200024	0001	
\$3,800.00	\$950.00	4.00	EA	4.00	0.00	4.00	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	0270 6200030	0001	
\$9,750.00	\$195.00	50.00	EA	50.00	4.00	46.00	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	0280 6200036	0001	
\$1,575.00	\$45.00	35.00	EA	35.00	0.00	35.00	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	0290 6200042	0001	
\$3,966.60	\$0.20	19,833.00	LF	19,833.00	-54,682.00	74,515.00	6 IN. WHITE CLASS 2 PAVEMENT MARKING PAINT (25-MIL, TYPE L BEADS)	0300 6205902A	0001	
\$2,540.60	\$0.20	12,703.00	LF	12,703.00	-39,130.00	51,833.00	6 IN. YELLOW CLASS 2 PAVEMENT MARKING PAINT (25-MIL, TYPE L BEADS) 12 IN. WHITE CLASS 2 PAVEMENT MARKING PAINT (25-MIL.		0001	
\$0.00	\$0.55	0.00	LF	0.00	-4,781.00	4,781.00	12 IN. WHITE CLASS 2 PAVEMENT MARKING PAINT (25-MIL, TYPE L BEADS) 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	0320 6205906A	0001	
\$1,375.20	\$0.16	8,595.00	LF	8,595.00	0.00	8,595.00	PAINT, TYPE P BEADS		0001	
\$647.36	\$0.16	,	LF	4,046.00	0.00	4,046.00	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	0340 6206001C	0001	
\$9,985.80	\$0.55	18,156.00	LF	18,156.00	-16,055.00			0350 6207001	0001	
\$7,315.00	\$95.00	77.00	EA	77.00	-54.00	131.00	PAVEMENT MARKING REMOVAL (SYMBOLS)	0360 6207002	0001	
\$585,485.74	\$2.87	204,002.00	SQYD	204,002.00	0.00	204,002.00	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	0370 6221001	0001	
\$33,033.24	\$5.34	6,186.00	SQYD	6,186.00	2,305.00	3,881.00	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	0380 6224010	0001	
\$6,394.40	\$18.38	347.90	STA	347.90	-103.10	451.00	BITUMINOUS SHOULDER RUMBLE STRIP	0390 6261000A		
\$39,161.25	\$26.55	1,475.00	LF	1,475.00	350.00	1,125.00	MGS GUARDRAIL	0400 6061060	0010	
\$14,250.00	\$30.00	475.00	LF	475.00	25.00	450.00	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	0410 6061061	0010	
\$5,160.00	\$1,290.00	4.00	EA	4.00	2.00	2.00	MGS END ANCHOR	0420 6061080	0010	
\$26,370.00	\$2,930.00	9.00	EA	9.00	1.00	8.00	TYPE A CRASHWORTHY END TERMINAL (MASH)	0430 6063014	0010	
\$2,430.12	\$810.04	3.00	EA	3.00	0.00	3.00	ACCESSIBLE PEDESTRIAN SIGNAL	0440 9024921	0030	
\$37,771.60	\$9,442.90	4.00	EA	4.00	0.00	4.00	MISC.OPTIONAL TRAFFIC SIGNAL DETECTORS	0450 9029902	0030	
\$30,305.00	\$30,305.00	1.00	LS	1.00	1.00	0.00	MISC.CONTRACT BOND MAYMENT	5001 6189901	0001	
\$21,354.48	\$3.42	6,244.00	GAL	6,244.00	6,244.00	0.00	TACK COAT	5002 4071005	0001	



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

ID			Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTEE To Date (See report generated date)			
1118-	J4S3350	0001	5003	4071007	TACK COAT - NON-TRACKING	0.00	17,390.00	17,390.00	GAL	17,390.00	\$4.40	\$76,516.0
5		0010	5004	2153000	SHAPING SLOPES, CLASS III	0.00	1.80	1.80	100F	1.80	\$630.00	\$1,134.0
		0010	5005	2022010	REMOVAL OF IMPROVEMENTS	0.00	1.00	1.00	LS	1.00	\$2,152.50	\$2,152.5
		0001	5006	1099903	MISC.6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	0.00	54,682.00	54,682.00	LF	54,682.00	\$0.16	\$8,749.1
		0001	5007	1099903	MISC.6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	0.00	41,084.00	41,084.00	LF	41,084.00	\$0.16	\$6,573.4
		0001	5008	1099903	MISC.12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	0.00	4,781.00	4,781.00	LF	4,781.00	\$0.48	\$2,294.8
	Project J4	1S3350 - To	otal Value	e Posted to D	ate as of Report Generated Date							\$3,949,073.5
	J4S3414	0001	0460	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$49,914.95	\$49,914.9
		0001	0470	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	10.00	0.00	10.00	100F	10.00	\$2,920.60	\$29,206.0
		0001	0480	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	86.00	0.00	86.00	SQYD	86.00	\$81.55	\$7,013.3
		0001	0490	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	798.00	0.00	798.00	SQYD	798.00	\$33.05	\$26,373.9
		0001	0500	4019905	MISC.OPTIONAL PAVEMENT	782.00	0.00	782.00	SQYD	782.00	\$100.40	\$78,512.8
		0001	0510	4030105	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125C MIX)	12,465.00	-632.50	11,832.50	TONS	11,832.50	\$77.93	\$922,106.7
		0001	0520	4099905	MISC.SURFACE SEALING TREATMENT	58,833.00	0.00	58,833.00	SQYD	58,833.00	\$4.65	\$273,573.4
		0001	0530	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	93.20	0.00	93.20	SQYD	93.20	\$110.50	\$10,298.6
		0001	0540	5021110	CONCRETE PAVEMENT (10 IN. NON-REINF)	7.40	0.00	7.40	SQYD	7.40	\$143.25	\$1,060.0
		0001	0550	6042020	ADJUSTING BASIN OR INLET	5.00	0.00	5.00	EA	5.00	\$2,625.85	\$13,129.2
		0001	0560	6049902	MISC.DROP INLET CLEANOUT	5.00	0.00	5.00	EA	5.00	\$188.50	\$942.
		0001	0570	6081000	CONCRETE MEDIAN	1.80	0.00	1.80	SQYD	1.80	\$129.20	\$232.
		0001	0580	6083008	8 IN. CONCRETE MEDIAN STRIP	77.20	0.00	77.20	SQYD	77.20	\$138.75	\$10,711.
		0001	0590	6089902	MISC.RAMPED MEDIAN NOSE	2.00	0.00	2.00	EA	2.00	\$1,746.45	\$3,492.
		0001	0600	6091011	CONCRETE CURB (OVER 6 IN. HEIGHT) TYPE S	16.00	0.00	16.00	LF	16.00	\$51.15	\$818.
		0001	0610	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	16.00	0.00	16.00	CUYD	16.00	\$126.40	\$2,022.
		0001	0620	6096041	PLACING TYPE 1 ROCK DITCH LINER	16.00	0.00	16.00	CUYD	16.00	\$77.65	\$1,242.
		0001	0630	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$2,500.00	\$5,000.
		0001	0640	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	941.00	17.70	958.70	SQYD	958.70	\$226.75	\$217,385.
		0001	0650	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	95.00	-95.00	0.00	SQYD	0.00	\$1.00	\$0.
		0001	0660	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	95.00	-95.00	0.00	SQYD	0.00	\$1.00	\$0.0
		0001	0670	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	2,375.00	1,121.00	3,496.00	LF	3,496.00	\$2.60	\$9,089.0
		0001	0680	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	680.00	59.00	739.00	EA	739.00	\$6.65	\$4,914.
		0001	0690	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	300.00	24.00	324.00	EA	324.00	\$14.40	\$4,665.
		0001	0700	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	191.00	-106.00	85.00	EA	85.00	\$6.65	\$565.
		0001	0710	6149902	MISC.BICYCLE SAFE GRATE 3X2	3.00	0.00	3.00	EA	3.00	\$2,185.00	\$6,555.
		0001	0720	6149902	MISC.BICYCLE SAFE GRATE 5X3	2.00	0.00	2.00	EA	2.00	\$3,047.50	\$6,095.
		0001	0730	6161005	CONSTRUCTION SIGNS	1,412.00	-124.00	1,288.00	SQFT	1,288.00	\$6.00	\$7,728.
		0001	0740	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$45.00	\$180.
		0001	0750	6161025	CHANNELIZER (TRIM-LINE)	400.00	0.00	400.00	EA	400.00	\$15.00	\$6,000.
		0001	0760	6161030	TYPE 3 MOVEABLE BARRICADE	12.00	0.00	12.00	EA	12.00	\$165.00	\$1,980.
		0001	0770	6161033	DIRECTION INDICATOR BARRICADE	35.00	-35.00	0.00	EA	0.00	\$145.00	\$0.
		0001	0780	6161040	FLASHING ARROW PANEL	6.00	-4.00	2.00	EA	2.00	\$1,995.00	\$3,990.
		0001	0790	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	6.00	0.00	6.00	EA	6.00	\$3,250.00	\$19,500.
		0001	0800	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	8.00	-8.00	0.00	EA	0.00	\$975.00	\$0.
		0001	0810	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$292,662.11	\$292,662.
		0001	0820	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	1,634.00	36.00	1,670.00	LF	1,670.00	\$20.00	\$33,400.
		0001	0830	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	13.00	-13.00	0.00	LF	0.00	\$35.00	\$0.
		0001	0840	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	58.00	0.00	58.00	EA	58.00	\$245.00	\$14,210.
		0001	0850	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	6.00	0.00	6.00	EA	6.00	\$225.00	\$1,350.
		0001	0860	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	34.00	-11.00	23.00	EA	23.00	\$45.00	\$1,035.
TYPE L BEADS)		6 IN. WHITE CLASS 2 PAVEMENT MARKING PAINT (25-MIL, TYPE L BEADS)	87,796.00	0.00	87,796.00	LF	87,796.00	\$0.20	\$17,559.			
		0001	0880	6205903A	6 IN. YELLOW CLASS 2 PAVEMENT MARKING PAINT (25-MIL,	59,232.00	0.00	59,232.00	LF	59,232.00	\$0.20	\$11,846.



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

ontract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
21118-	J4S3414				TYPE L BEADS)							
05		0001	0890	6207001	PAVEMENT MARKING REMOVAL	78,634.00	0.00	78,634.00	LF	78,634.00	\$0.55	\$43,248.70
		0001	0900	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	67.00	0.00	67.00	EA	67.00	\$95.00	\$6,365.00
		0001	0910	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	113,717.00	0.00	113,717.00	SQYD	113,717.00	\$2.61	\$296,801.37
		0001	0920	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	248.00	185.80	433.80	STA	433.80	\$18.38	\$7,973.24
		0001	0930	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	-1.00	0.00	LS	0.00	\$5,000.00	\$0.00
		0001	0940	8025006	MULCHING	1.00	-1.00	0.00	ACRE	0.00	\$1,400.00	\$0.00
		0001	0950	8051000A	SEEDING - COOL SEASON GRASSES	0.50	-0.50	0.00	ACRE	0.00	\$3,900.00	\$0.00
		0001	0960	8061006	ALTERNATE DITCH CHECK	225.00	-225.00	0.00	LF	0.00	\$11.50	\$0.00
		0001	0970	8061007A	CURB INLET CHECK	11.00	-11.00	0.00	EA	0.00	\$130.00	\$0.00
		0001	0980	8061016	SEDIMENT REMOVAL	35.00	-35.00	0.00	CUYD	0.00	\$200.00	\$0.00
		0001	0990	8061017	TEMPORARY SEEDING	0.50	-0.50	0.00	ACRE	0.00	\$2,000.00	\$0.00
		0001	1000	8061019	SILT FENCE	824.00	-824.00	0.00	LF	0.00	\$3.40	\$0.00
		0030	1010	9029902	MISC.LOOP DETECTOR	4.00	1.00	5.00	EA	5.00	\$3,369.41	\$16,847.0
		0030	1020	9029902	MISC.OPTIONAL TRAFFIC SIGNAL DETECTORS	4.00	0.00	4.00	EA	4.00	\$9,442.90	\$37,771.60
		0040	1030	9035004A	SH-FLAT SHEET	14.00	0.00	14.00	SQFT	14.00	\$23.00	\$322.00
		0040	1040	9039902	MISC.RELOCATION OF EXISTING SIGNS	2.00	0.00	2.00	EA	2.00	\$1,284.00	\$2,568.00
		0001	5101	4071005	TACK COAT	0.00	11,752.00	11,752.00	GAL	11,752.00	\$3.42	\$40,191.84
	Project J4	4S3414 - To	otal Value	Posted to D	ate as of Report Generated Date							\$2,548,451.22
21118-0	05 Overal	I - Total Val	lue Poste	ed to Date as	of Report Generated Date							\$6,497,524.79



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work. The information below this line are details for Construction Signs (if applicable). No Data Available



Jun 5, 2025

roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
S3350	0020	BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	Other Item Adjustment	ACAD	6	Oct 2, 2023	watkib5	(\$1,821.70)	1557.01 Tons HMA placed for September pay period. 3.6% Virgin AC
		PG64-22 (BP-2)			7	Oct 16, 2023	streeb3	(\$4,424.11)	3,781.29 Tons HMA placed in October pay period. 3.6% Virgin AC
				ACAD - Tot	al			(\$6,245.81)	
			Other Item A	djustment - T	otal			(\$6,245.81)	
			Overrun	Overrun	7	Oct 16,	SYSTEM	(\$23,282.12)	
			Overlan	Overruit	19	2023 Apr 16,	SYSTEM	\$23,282.12	Unit price based on averaged overrun adjustments for installed quantity on all
					15	2024	STOTEM	ψ2 0,202.1 2	previous payment estimates. Price Adjustments of ',84.57000 - 84.57000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	otal				\$0.00	
	0020 -	Total						(\$6,245.81)	
					0	0.10	OVOTEN		
	0030	ASPH. CONC. MIXTURE PG 76-22	Material		6	Oct 2, 2023	SYSTEM	(\$1,605,764.48)	
		(SP095BSM)			6	Oct 2, 2023	SYSTEM	\$1,605,764.48	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user watkib5 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Other Item Adjustment	ACAD	6	Oct 2, 2023	watkib5	(\$27,058.16)	13428.37 Tons HMA placed in September pay period. 6.2% Virgin AC
					7	Oct 16, 2023	streeb3	(\$4,929.55)	2,446.43 Tons HMA placed in October pay period. 6.2% Virgin AC
				ACAD - Tot	al			(\$31,987.71)	
			Other Item A	djustment - T	otal			(\$31,987.71)	
	0030 -	Tetel		ajuotinent 1	otai				
								(\$31,987.71)	
	0240	PREF THERMO PVMT MARK, 24 IN YELLOW	Overrun	Overrun	22	Jun 3, 2024	SYSTEM	(\$2,200.00)	
					34	Dec 3, 2024	SYSTEM	\$2,200.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',20.00000 - 20.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	otal				\$0.00	
	0240 -	Total							
								\$0.00	
	0260	PREF THERMO PVMT MRKG, STRIAGHT	Overrun	Overrun	22	Jun 3, 2024	SYSTEM	(\$3,600.00)	
		ARROW			23	Jun 17, 2024	SYSTEM	(\$225.00)	
					34	Dec 3, 2024	SYSTEM	\$3,825.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',225.00000 - 225.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	otal				\$0.00	
	0260 -	Total						\$0.00	
	0270	PREF THERMO PVMT MARK,	Overrun	Overrun	22	Jun 3, 2024	SYSTEM	(\$950.00)	
		WORD (ONLY)			34	Dec 3, 2024	SYSTEM	\$950.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',950.00000 - 950.00000, 'is
				Overrun - T	otal			\$0.00	applied (if non-zero).
			Overrun - To	otal				\$0.00	
	0270 -	Total						\$0.00	
		PREF THERMO	Overrun	Overrun	22	Jun 3,	SYSTEM	(\$90.00)	
		PVMT MARK, YIELD TRIAN			34	2024 Dec 3,	SYSTEM	\$90.00	Unit price based on averaged overrun adjustments for installed quantity on all
						2024			previous payment estimates. Price Adjustments of ',45.00000 - 45.00000, 'is applied (if non-zero).
				Overrun - T	otol			\$0.00	appileu (il non-zero).



Jun 5, 2025

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3350	0290	PREF THERMO PVMT MARK, YIELD TRIAN	Overrun - To	otal				\$0.00	
	0290 -	Total						\$0.00	
	0300	6 IN. WHITE CLASS 2 PAVEMENT	Overrun	Overrun	22	Jun 3, 2024	SYSTEM	(\$3,966.60)	
		MARKING PAINT (25-MIL, TYPE L BEADS)			34	Dec 3, 2024	SYSTEM	\$3,966.60	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.20000 - 0.20000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	otal				\$0.00	
	0300 -	Total						\$0.00	
	0310	6 IN. YELLOW CLASS 2 PAVEMENT	Overrun	Overrun	22	Jun 3, 2024	SYSTEM	(\$2,540.60)	
		MARKING PAINT (25-MIL, TYPE L BEADS)			34	Dec 3, 2024	SYSTEM	\$2,540.60	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.20000 - 0.20000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	otal				\$0.00	
	0310 -	Total						\$0.00	
	0330	4 IN. WHITE WATERBORNE PAVEMENT	Material		9	Nov 16, 2023	SYSTEM	(\$687.68)	
		MARKING			9	Nov 16, 2023	SYSTEM	\$687.68	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user streeb3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					10	Dec 4, 2023	SYSTEM	(\$687.68)	
					10	Dec 4, 2023	SYSTEM	\$687.68	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user streeb3 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					al I				
				- Total				\$0.00	
			Material - To					\$0.00	
	0330 -				2	11 12		\$0.00 \$0.00	
		4 IN. YELLOW WATERBORNE PAVEMENT	Material - To Material		9	Nov 16, 2023	SYSTEM	\$0.00 \$0.00 (\$323.68)	This adjustment effects the original system generated Material Daymont
		4 IN. YELLOW WATERBORNE			9		SYSTEM	\$0.00 \$0.00 (\$323.68) \$323.68	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate.
		4 IN. YELLOW WATERBORNE PAVEMENT			9	2023 Nov 16, 2023 Dec 4, 2023	SYSTEM SYSTEM	\$0.00 \$0.00 (\$323.68) \$323.68 (\$323.68)	Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate.
		4 IN. YELLOW WATERBORNE PAVEMENT		tal	9	2023 Nov 16, 2023 Dec 4,	SYSTEM	\$0.00 \$0.00 (\$323.68) \$323.68 (\$323.68) \$323.68	Estimate Item Adjustment (0002) due to user streeb3 overridding Payment
		4 IN. YELLOW WATERBORNE PAVEMENT	Material	tal - Total	9	2023 Nov 16, 2023 Dec 4, 2023 Dec 4,	SYSTEM SYSTEM	\$0.00 \$0.00 (\$323.68) \$323.68 (\$323.68) \$323.68 \$323.68	Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment
	0340	4 IN. YELLOW WATERBORNE PAVEMENT MARKING		tal - Total	9	2023 Nov 16, 2023 Dec 4, 2023 Dec 4,	SYSTEM SYSTEM	\$0.00 \$0.00 (\$323.68) \$323.68 (\$323.68) \$323.68 \$323.68 \$323.68	Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment
	0340	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Material	tal - Total	9	2023 Nov 16, 2023 Dec 4, 2023 Dec 4, 2023 Jun 3,	SYSTEM SYSTEM	\$0.00 \$0.00 (\$323.68) \$323.68 (\$323.68) \$323.68 \$323.68	Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment
	0340 0340 -	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Material Material - To	tal - Total tal	9 10 10	2023 Nov 16, 2023 Dec 4, 2023 Dec 4, 2023	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$323.68) \$323.68 (\$323.68) \$323.68 \$323.68 \$323.68 \$323.68 \$323.68	Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment
	0340 0340 -	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Material Material - To	tal - Total tal	9 10 10 22 34	2023 Nov 16, 2023 Dec 4, 2023 Dec 4, 2023 Jun 3, 2024 Dec 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$323.68) \$323.68 (\$323.68) \$323.68 \$323.68 \$323.68 \$0.00 \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
	0340 0340 -	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Material Material - To	tal - Total tal Overrun Overrun - T	9 10 10 22 34	2023 Nov 16, 2023 Dec 4, 2023 Dec 4, 2023 Jun 3, 2024 Dec 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$323.68) \$323.68 (\$323.68) \$323.68 \$323.68 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
	0340 0340 -	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PAVEMENT MARKING REMOVAL	Material Material - To	tal - Total tal Overrun Overrun - T	9 10 10 22 34	2023 Nov 16, 2023 Dec 4, 2023 Dec 4, 2023 Jun 3, 2024 Dec 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$323.68) (\$323.68) (\$323.68) (\$323.68) \$323.68 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$545.05) \$545.05	Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
	0340 0340 - 0350 -	4 IN. YELLOW WATERBORNE PAVEMENT MARKING • Total PAVEMENT MARKING REMOVAL • Total MODIFIED COLDMILLING	Material Material - To	tal - Total tal Overrun Overrun - T	9 10 10 22 34	2023 Nov 16, 2023 Dec 4, 2023 Dec 4, 2023 Jun 3, 2024 Dec 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$323.68) \$323.68 (\$323.68) \$323.68 \$0.00 \$0.00 \$0.00 \$545.05 \$545.05 \$545.05 \$0.00 \$0.00 \$50.00 \$545.05 \$545.05 \$0.00 \$0.00 \$50.00 \$0.00	Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
	0340 0340 - 0350 -	4 IN. YELLOW WATERBORNE PAVEMENT MARKING PAVEMENT MARKING REMOVAL	Material Material - To Overrun	tal - Total tal Overrun Overrun - T tal	9 10 10 22 34 0tal	2023 Nov 16, 2023 Dec 4, 2023 Jun 3, 2024 Jun 3, 2024 Dec 3, 2024 Dec 3, 2024	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$323.68) \$323.68 (\$323.68) \$323.68 \$323.68 \$323.68 \$0.00 \$0.00 \$0.00 \$545.05 \$545.05 \$545.05 \$545.05	Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
	0340 0340 - 0350 -	4 IN. YELLOW WATERBORNE PAVEMENT MARKING Total PAVEMENT MARKING REMOVAL Total MODIFIED COLDMILLING (DEPTH	Material Material - To Overrun	tal - Total tal Overrun Overrun - T tal	9 10 10 22 34 0tal	2023 Nov 16, 2023 Dec 4, 2023 Dec 4, 2023 Un 3, 2024 Dec 3, 2024 Dec 3, 2024 Dec 3, 2024 Dec 3, 2024	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 (\$323.68) \$323.68 (\$323.68) \$323.68 \$323.68 \$323.68 \$323.68 \$0.00 \$0.00 \$0.00 \$545.05 \$545.05 \$545.05 \$545.05 \$0.00 \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 7 on the current Payment Estimate.



Jun 5, 2025

oject	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
3350	0380	MODIFIED	Overrun	Type Overrun					opplied //f.pop.zero)
3330	0360	COLDMILLING	Ovenun	Overrun - T	otal			\$0.01	applied (if non-zero).
		(DEPTH TRANSITIONS)	Overrun - To					\$0.01	
	0380 -	Total						\$0.01	
	0400	MGS GUARDRAIL	Construction Stockpile		7	Oct 16, 2023	SYSTEM	(\$16,211.25)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$16,211.25)	
			Construction	1 Stockpile - 1	Fotal			(\$16,211.25)	
			Construction Stockpile		2	May 1, 2023	SYSTEM	\$16,211.25	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$16,211.25	
			Construction	n Stockpile S ⁻	TMI - Tota			\$16,211.25	
			Overrun	Overrun	7	Oct 16, 2023	SYSTEM	(\$9,956.25)	
					8	Nov 2, 2023	SYSTEM	\$9,956.25	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',26.55000 - 26.55000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0400 -				-		-	\$0.00	
	0410	GUARDRAIL, 8 FT. POSTS, 6	Construction Stockpile	Tatal	7	Oct 16, 2023	SYSTEM	(\$7,807.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
		FT 3 IN	Construction	- Total	Fotol			(\$7,807.50)	
				n Stockpile - ⊺	2	Moy 1	SYSTEM	(\$7,807.50) \$7,807.50	Dournant Estimate Item Adjustment generated Stackaile Transaction
			Construction Stockpile STMI	- Total	2	May 1, 2023	STOTEM	\$7,807.50 \$7,807.50	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	Stockpile S	TMI - Total			\$7,807.50	
			Overrun	Overrun	7	Oct 16,	SYSTEM	(\$750.00)	
			ovenuit	ovonun	8	2023 Nov 2,	SYSTEM	\$750.00	Unit price based on averaged overrun adjustments for installed quantity on all
						2023			previous payment estimates. Price Adjustments of ',30.00000 - 30.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0410 -							\$0.00	
	0420	MGS END ANCHOR	Construction Stockpile		7	Oct 16, 2023	SYSTEM	(\$1,670.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$1,670.00)	
				1 Stockpile - 1		Maria	OVOTEM	(\$1,670.00)	Dermand Faller de liter Adligeter et anneste d'Oterleille Terre estier
			Construction Stockpile STMI	- Total	2	May 1, 2023	SYSTEM	\$1,670.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total Stockpile S	TMI Total			\$1,670.00 \$1,670.00	
			Overrun	Overrun	7	Oct 16, 2023	SYSTEM	(\$2,580.00)	
					8	Nov 2, 2023	SYSTEM	\$2,580.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',1290.00000 - 1290.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0420 -	Total						\$0.00	
	0430	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		7	Oct 16, 2023	SYSTEM	(\$15,000.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)		- Total				(\$15,000.00)	
				1 Stockpile - 1				(\$15,000.00)	
			Construction		2	May 1,	SYSTEM	\$15,000.00	Payment Estimate Item Adjustment generated Stockpile Transaction



Jun 5, 2025

Norma Norma Norma Second Proprint Proprint Second Proprint Proprint Second Proprint Proprint Second Proprint Second Proprint	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
NAMP March 1-101 1-100 1-100 0err 0err 0err 20:3 371E4 (2:30:00) Independence 1-100	J4S3350	0430					2023			
			END TERMINAL	STMI	- Total				\$15,000.00	
Image: Problem Image:			(MASH)	Construction	Stockpile S	TMI - Total			\$15,000.00	
Image: Process of the second of the				Overrun	Overrun	7		SYSTEM	(\$2,930.00)	
No. No. No. No. No. No. 020 - val 0 0.00 972.00						8	Nov 2,	SYSTEM	\$2,930.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2930.00000 - 2930.00000, 'is applied (if non-zero).
Norman Overrun - Total Use of the second o					Overrun - T	otal			\$0.00	
502 TACK COAT Mannal 1 6 Ord 2, 0 9YSTEM (66,503.00) 6 Out 2, 0 SYSTEM 56,502.00 Etimals from Adjustment offesta burning hymment Etimals Exception 3 on the current Payment Estimate. Material - Total				Overrun - To	tal				\$0.00	
Norman Image: Second se		0430 -	Total						\$0.00	
key		5002	TACK COAT	Material		6		SYSTEM	(\$6,303.06)	
Image: state in the						6	Oct 2,	SYSTEM	\$6,303.06	Estimate Item Adjustment (0005) due to user watkib5 overridding Payment
Material - Total Second S					Tetel				¢0.00	Estimate Exception 8 on the current Payment Estimate.
Non- Owerna Overna Overna Overna Overna SYSTEN (94.493.88) Unit price based on averaged overna adjustments of installed quantity on a propried (From-zero). Overna - Voerna - Voern				Material Ter						
Image: state in the						7	Oct 16	SYSTEM		
Key here				Overruit	Overruit	1		STOTEIN	(\$4,493.00)	
Image: state in the s						19		SYSTEM	\$4,493.88	
5002 - Total Source Source <thsource< th=""> <thsource< th=""> Sou</thsource<></thsource<>					Overrun - T	otal			\$0.00	
503 TACK COAT- NON-TRACKING NO				Overrun - To	tal				\$0.00	
Image: Result of the second		5002 -							\$0.00	
Image: state in the state in the image: state in the		5003		Material		7		SYSTEM	(\$46,296.80)	
Image: space						7		SYSTEM	\$46,296.80	Estimate Item Adjustment (0017) due to user streeb3 overridding Payment
5003 -Total Overrun Overrun 20 May 1, 2024 SYSTEM (S1,781.76) Output to the parameter of the parameter					- Total				\$0.00	
508 MISC. Overrun Overrun 20 May 1, 2024 SYSTEM (\$1,781.76) 44 Dec 3, 2024 SYSTEM \$1,781.76) previous payment estimates. Price Adjustments of installed quantity on a previous payment estimates. Price Adjustments of 0.48000 - 0.48000, is a previous payment estimates. Price Adjustments of 0.48000 - 0.48000, is a previous payment estimates. Price Adjustments of 0.48000 - 0.48000, is a previous payment estimates. Price Adjustments of 0.48000 - 0.48000, is a previous payment estimates. Price Adjustments of 0.48000 - 0.48000, is a previous payment estimates. Price Adjustments of 0.48000 - 0.48000, is a previous payment estimate. J4S3404 Overrun - Total 50.00 Overrun - Total (\$38,233.51) J4S3414 Material AdgeRegAte FOR BASE Material 6 Oct 2, 2023 SYSTEM (\$7,013.30) 7 Oct 16, 2023 SYSTEM (\$7,013.30) 8 Nov 2, 2023<				Material - Tot	tal				\$0.00	
Image: Construct of the second sec										
Image: bit is a bit is bit a bit a bit a bit is a bit is a bit a bit a bit a bit a bit a		5008	MISC.	Overrun	Overrun	20		SYSTEM	(\$1,781.76)	
Image: constraint of the second sec						34		SYSTEM	\$1,781.76	
\$008 - Total\$0.001453350 - Total(\$38,233.51)J4534140.480TYPE 5 AGGREGATE FOR BASEMaterial6Oct 2, 2023SYSTEM(\$7,013.00)This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user watkib5 overridding Payment Estimate Exception 1 on the current Payment Estimate.7Oct 16, 2023SYSTEM(\$7,013.00)This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.7Oct 16, 2023SYSTEM(\$7,013.00)This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.8Nov 2, 2023SYSTEM(\$7,013.00)8Nov 2, 2023SYSTEM(\$7,013.00)9Nov 4, 2023SYSTEM(\$7,013.00)9Nov 6, 2023SYSTEM(\$7,013.00)					Overrun - T	otal			\$0.00	
(\$38,233.51) J4S3414 O480 AGGREGATE FOR BASE TYPE 5 AGGREGATE FOR BASE Material 6 Oct 2, 2023 SYSTEM SYSTEM (\$7,013.30) 6 Oct 2, 2023 SYSTEM \$7,013.30 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user watkib5 overridding Payment Estimate Exception 1 on the current Payment Estimate. 7 Oct 16, 2023 SYSTEM \$7,013.30 This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate. 7 Oct 16, 2023 SYSTEM \$7,013.30 This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate. 8 Nov 2, 2023 SYSTEM \$7,013.30 This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate. 8 Nov 2, 2023 SYSTEM \$7,013.30 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Item Adjustment (0005) due to user streeb3 over				Overrun - To	tal				\$0.00	
J4S3414 0480 TYPE 5 AGGREGATE FOR BASE Material Material 6 Oct 2, 2023 SYSTEM (\$7,013.30) 6 Oct 2, 2023 SYSTEM \$7,013.30 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user watkib5 overridding Payment Estimate 7 Oct 16, 2023 SYSTEM (\$7,013.30) This adjustment offsets the original system-generated Material Payment Estimate. 7 Oct 16, 2023 SYSTEM (\$7,013.30) This adjustment offsets the original system-generated Material Payment Estimate. 7 Oct 16, 2023 SYSTEM (\$7,013.30) This adjustment offsets the original system-generated Material Payment Estimate. 8 Nov 2, 2023 SYSTEM (\$7,013.30) This adjustment offsets the original system-generated Material Payment Estimate. 8 Nov 2, 2023 SYSTEM (\$7,013.30) This adjustment offsets the original system-generated Material Payment Estimate. 9 Nov 16, 2023 SYSTEM (\$7,013.30) This adjustment offsets the original system-generated Material Payment Estimate.		5008 -	Total						\$0.00	
AGGREGATE FOR BASE AGGREGATE FOR BASE AGGREGATE FOR BASE Cold 2, 2023 SYSTEM \$7,013.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user watkib5 overridding Payment Estimate Exception 1 on the current Payment Estimate. 7 Oct 16, 2023 SYSTEM (\$7,013.30) This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate. 7 Oct 16, 2023 SYSTEM (\$7,013.30) This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate. 8 Nov 2, 2023 SYSTEM (\$7,013.30) This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate. 8 Nov 2, 2023 SYSTEM \$7,013.30 This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate. 9 Nov 16, 2023 SYSTEM \$7,013.30 This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.		_								
6Oct 2, 2023SYSTEM\$7,013.30This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user watkib5 overridding Payment Estimate Exception 1 on the current Payment Estimate.7Oct 16, 2023SYSTEM(\$7,013.30)This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.7Oct 16, 2023SYSTEM(\$7,013.30)This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.8Nov 2, 2023SYSTEM(\$7,013.30)8Nov 2, 2023SYSTEM\$7,013.30This adjustment offsets the original system-generated Material Payment Estimate Exception 1 on the current Payment Estimate.9Nov 16, 2023SYSTEM(\$7,013.30)	J4S3414	0480	AGGREGATE	Material		6		SYSTEM	(\$7,013.30)	
20232023202320237Oct 16, 2023SYSTEM\$7,013.30This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.8Nov 2, 2023SYSTEM(\$7,013.30)8Nov 2, 2023SYSTEM\$7,013.308Nov 2, 2023SYSTEM\$7,013.309Nov 16, 2023SYSTEM(\$7,013.30)			FOR BASE			6		SYSTEM	\$7,013.30	Estimate Item Adjustment (0006) due to user watkib5 overridding Payment
20232023Estimate <t< td=""><td></td><td></td><td></td><td></td><td>1</td><td>7</td><td></td><td>SYSTEM</td><td>(\$7,013.30)</td><td></td></t<>					1	7		SYSTEM	(\$7,013.30)	
2023202320232023This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.9Nov 16, 2023SYSTEM 2023(\$7,013.30)						7		SYSTEM	\$7,013.30	Estimate Item Adjustment (0012) due to user streeb3 overridding Payment
2023 Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate. 9 Nov 16, 2023 (\$7,013.30)						8		SYSTEM	1 (\$7,013.30)	
2023						8		SYSTEM	\$7,013.30	Estimate Item Adjustment (0005) due to user streeb3 overridding Payment
9 Nov 16, SYSTEM \$7.013.30 This adjustment offsets the original system-generated Material Payment						9		SYSTEM	(\$7,013.30)	
						9	Nov 16,	SYSTEM	\$7,013.30	This adjustment offsets the original system-generated Material Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3414	0480	TYPE 5 AGGREGATE	Material			2023			Estimate Item Adjustment (0003) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		FOR BASE			10	Dec 4, 2023	SYSTEM	(\$7,013.30)	
					10	Dec 4, 2023	SYSTEM	\$7,013.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					11	Dec 18, 2023	SYSTEM	(\$7,013.30)	
					11	Dec 18, 2023	SYSTEM	\$7,013.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					12	Jan 2, 2024	SYSTEM	(\$7,013.30)	
					12	Jan 2, 2024	SYSTEM	\$7,013.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user woodyb2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					13	Jan 16, 2024	SYSTEM	(\$7,013.30)	
					13	Jan 16, 2024	SYSTEM	\$7,013.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					33	Nov 15, 2024	SYSTEM	(\$7,013.30)	
					33	Nov 15, 2024	SYSTEM	\$7,013.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					34	Dec 3, 2024	SYSTEM	(\$7,013.30)	
					34	Dec 3, 2024	SYSTEM	\$7,013.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user wilsor2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
								00.00	
				- Total				\$0.00	
	0.400	T -4-1	Material - To					\$0.00	
	0480 - 0490	TYPE 5	Material - To Material		5	Sep 17,	SYSTEM		
					5	Sep 17, 2023 Sep 17, 2023	SYSTEM SYSTEM	\$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Econtion 1 on the current Payment Estimate
		TYPE 5 AGGREGATE FOR BASE (6 IN.				2023 Sep 17, 2023 Oct 2,		\$0.00 \$0.00 (\$19,449.92)	
		TYPE 5 AGGREGATE FOR BASE (6 IN.			5	2023 Sep 17, 2023	SYSTEM	\$0.00 \$0.00 (\$19,449.92) \$19,449.92	Estimate Item Adjustment (0005) due to user streeb3 overridding Payment
		TYPE 5 AGGREGATE FOR BASE (6 IN.			5	2023 Sep 17, 2023 Oct 2, 2023 Oct 2,	SYSTEM SYSTEM	\$0.00 \$0.00 (\$19,449.92) \$19,449.92 (\$26,373.90)	Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user watkib5 overridding Payment
		TYPE 5 AGGREGATE FOR BASE (6 IN.			5 6 6	2023 Sep 17, 2023 Oct 2, 2023 Oct 2, 2023 Oct 2, 2023 Oct 16,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$19,449.92) \$19,449.92 (\$26,373.90) \$26,373.90	Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user watkib5 overridding Payment
		TYPE 5 AGGREGATE FOR BASE (6 IN.			5 6 6 7	2023 Sep 17, 2023 Oct 2, 2023 Oct 2, 2023 Oct 2, 2023 Oct 16, 2023 Oct 16,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$19,449.92) \$19,449.92 (\$26,373.90) \$26,373.90 (\$26,373.90)	Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user watkib5 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user streeb3 overridding Payment
		TYPE 5 AGGREGATE FOR BASE (6 IN.			5 6 6 7 7	2023 Sep 17, 2023 Oct 2, 2023 Oct 2, 2023 Oct 16, 2023 Oct 16, 2023 Nov 2,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$19,449.92) \$19,449.92 (\$26,373.90) \$26,373.90 (\$26,373.90) \$26,373.90	Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user watkib5 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user streeb3 overridding Payment
		TYPE 5 AGGREGATE FOR BASE (6 IN.			5 6 6 7 7 8	2023 Sep 17, 2023 Oct 2, 2023 Oct 2, 2023 Oct 16, 2023 Oct 16, 2023 Oct 16, 2023 Nov 2, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$19,449.92) \$19,449.92 (\$26,373.90) \$26,373.90 \$26,373.90 \$26,373.90 \$26,373.90	Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user watkib5 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user streeb3 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.
		TYPE 5 AGGREGATE FOR BASE (6 IN.			5 6 7 7 8 8	2023 Sep 17, 2023 Oct 2, 2023 Oct 2, 2023 Oct 16, 2023 Oct 16, 2023 Nov 2, 2023 Nov 2, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$19,449.92) \$19,449.92 (\$26,373.90) \$26,373.90 (\$26,373.90) \$26,373.90 (\$26,373.90) \$26,373.90	Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user watkib5 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user streeb3 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.
		TYPE 5 AGGREGATE FOR BASE (6 IN.			5 6 7 7 8 8 8	2023 Sep 17, 2023 Oct 2, 2023 Oct 2, 2023 Oct 16, 2023 Oct 16, 2023 Nov 2, 2023 Nov 2, 2023 Nov 2, 2023 Nov 2, 2023	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$19,449.92) \$19,449.92 (\$26,373.90) \$26,373.90 (\$26,373.90) \$26,373.90 (\$26,373.90) \$26,373.90 (\$26,373.90) \$26,373.90	Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user watkib5 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user streeb3 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user streeb3 overridding Payment Estimate Exception 2 on the current Payment Estimate.
		TYPE 5 AGGREGATE FOR BASE (6 IN.			5 6 7 7 8 8 8 9 9	2023 Sep 17, 2023 Oct 2, 2023 Oct 2, 2023 Oct 16, 2023 Oct 16, 2023 Oct 16, 2023 Nov 2, 2023 Nov 2, 2023 Nov 16, 2023 Nov 16, 2023 Dec 4,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$19,449.92) \$19,449.92 (\$26,373.90) \$26,373.90 (\$26,373.90 \$26,373.90 \$26,373.90 \$26,373.90 \$26,373.90 \$26,373.90	Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user watkib5 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user streeb3 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user streeb3 overridding Payment Estimate Exception 2 on the current Payment Estimate.



ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks											
414	0490	TYPE 5 AGGREGATE	Material			2023														
		FOR BASE (6 IN. THICK)			11	Dec 18, 2023	SYSTEM	\$26,373.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 2 on the current Payment Estimate.											
					12	Jan 2, 2024	SYSTEM	(\$26,373.90)												
					12	Jan 2, 2024	SYSTEM	\$26,373.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user woodyb2 overridding Payment Estimate Exception 2 on the current Payment Estimate.											
					13	Jan 16, 2024	SYSTEM	(\$26,373.90)												
					13	Jan 16, 2024	SYSTEM	\$26,373.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 2 on the current Payment Estimate.											
					33	Nov 15, 2024	SYSTEM	(\$26,373.90)												
					33	Nov 15, 2024	SYSTEM	\$26,373.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 2 on the current Payment Estimate.											
					34	Dec 3, 2024	SYSTEM	(\$26,373.90)												
					34	Dec 3, 2024	SYSTEM	\$26,373.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user wilsor2 overridding Payment Estimate Exception 2 on the current Payment Estimate.											
			Made del Tor	- Total				\$0.00												
	0490 -	Tatal	Material - Tot	al				\$0.00 \$0.00												
	0490 -	MISC.	Material		5	Sep 17, 2023	SYSTEM	(\$57,529.20)												
			Material						5	Sep 17, 2023	SYSTEM	\$57,529.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user streeb3 overridding Payment Estimate Exception 3 on the current Payment Estimate.							
								6	Oct 2, 2023	SYSTEM	(\$78,512.80)									
					6	Oct 2, 2023	SYSTEM	\$78,512.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user watkib5 overridding Payment Estimate Exception 4 on the current Payment Estimate.											
					7	Oct 16, 2023	SYSTEM	(\$78,512.80)												
					7	Oct 16, 2023	SYSTEM	\$78,512.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user streeb3 overridding Payment Estimate Exception 4 on the current Payment Estimate.											
					8	Nov 2, 2023	SYSTEM	(\$78,512.80)												
					8	Nov 2, 2023	SYSTEM	\$78,512.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user streeb3 overridding Payment Estimate Exception 3 on the current Payment Estimate.											
					9	Nov 16, 2023	SYSTEM	(\$78,512.80)												
					9	Nov 16, 2023	SYSTEM	\$78,512.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 3 on the current Payment Estimate.											
			1	1	1	1	10	10	10	10	10	10	10	10	1	10	Dec 4, 2023	SYSTEM	(\$78,512.80)	
					10	Dec 4, 2023	SYSTEM	\$78,512.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user streeb3 overridding Payment Estimate Exception 3 on the current Payment Estimate.											
				- Total				\$0.00												
			Material - Tot	tal				\$0.00												
	0500 -	Total						\$0.00												
	0510	ASPHALTIC CONCRETE MIXTURE PG	Material		4	Sep 6, 2023	SYSTEM	(\$922,106.72)												
		MIXTURE PG 76-22 (SP125C MIX)			4	Sep 6, 2023	SYSTEM	\$922,106.72	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user streeb3 overridding Payment Estimate Exception 1 on the current Payment Estimate.											



Jun 5, 2025

ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
414	0510	ASPHALTIC CONCRETE	Material	- Total				\$0.00	
		MIXTURE PG 76-22 (SP125C	Material - Total					\$0.00	
		MIX)	Other Item Adjustment	ACAD	4	Sep 6, 2023	streeb3	(\$13,074.95)	For a total of 11,832.53 tons placed during estimate period ending 9/1/23.
				ACAD - Tot		Ame 16	atrach2	(\$13,074.95)	Nameurinaida abauldas babusan I.M.22.024 ta I.M.25.070 West Daund Isnas
				SUBI	19	Apr 16, 2024	streeb3	(\$10,000.00)	Narrow inside shoulder between LM 23.934 to LM 25.978 West Bound lanes.
				SUBI - Total				(\$10,000.00)	
	0540	Other Item Adjustment - Total						(\$23,074.95)	
	0510 -	MISC. SCRUB	Motorial		9	Nev 10	SYSTEM	(\$23,074.95)	
	0520	SEAL	Material		9	Nov 16, 2023	SYSTEM	(\$273,573.45)	This adjustment effects the existent system second ad Material Developt
						Nov 16, 2023		\$273,573.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user streeb3 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					10	Dec 4, 2023	SYSTEM	(\$273,573.45)	
					10	Dec 4, 2023	SYSTEM	\$273,573.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user streeb3 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0520 -	Total						\$0.00	
06	0610	FURNISHING TYPE 1 ROCK DITCH LINER	Material		6	Oct 2, 2023	SYSTEM	(\$2,022.40)	
					6	Oct 2, 2023	SYSTEM	\$2,022.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user watkib5 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total	otal			\$0.00	
			Material - To	tal				\$0.00	
	0610 -	Total						\$0.00	
0640	0640	FURN & PLACE CONC MATL FOR FULL DEPTH	Overrun	Overrun	4	Sep 6, 2023	SYSTEM	(\$4,013.48)	
					5	Sep 17, 2023	SYSTEM	\$4,013.48	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',226.75000 - 226.75000, 'is applied (if non-zero).
				Overrun - Total				\$0.00	
			Overrun - To	tal				\$0.00	
	0640 -	Total						\$0.00	
	0670	0 FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR	Overrun	Overrun	4	Sep 6, 2023	SYSTEM	(\$2,914.60)	
					5	Sep 17, 2023	SYSTEM	\$2,914.60	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.60000 - 2.60000, 'is applied (if non-zero).
				Overrun - Total				\$0.00	
			Overrun - To	tal				\$0.00	
	0670 -	Total						\$0.00	
	0680	DOWEL BAR (DRILLING, FURNISHING	Overrun	Overrun	3	Aug 17, 2023	SYSTEM	(\$126.35)	
		AND INST			4	Sep 6, 2023	SYSTEM	(\$266.00)	
					5	Sep 17, 2023	SYSTEM	\$392.35	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',6.65000 - 6.65000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0680 -	Total						\$0.00	
	0690	DOWEL BAR	Material		3	Aug 17,	SYSTEM	(\$1,555.20)	
		(FURNISH AND INSTALL WITH				2023			



Jun 5, 2025

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3414	0690	BASK	Material			2023			Estimate Item Adjustment (0002) due to user streeb3 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
			Overrun	Overrun	4	Sep 6, 2023	SYSTEM	(\$345.60)	
					5	Sep 17, 2023	SYSTEM	\$345.60	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',14.40000 - 14.40000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0690	Total						\$0.00	
	0700	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	Material		3	Aug 17, 2023	SYSTEM	(\$299.25)	
					3	Aug 17, 2023	SYSTEM	\$299.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user streeb3 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	,
			Material - Tot					\$0.00	
	0700	Total						\$0.00	
	0710	MISC. DRAINAGE FITTINGS	Material		5	Sep 17, 2023	SYSTEM	(\$6,555.00)	
					5	Sep 17, 2023	SYSTEM	\$6,555.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user streeb3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
	0710	Total						\$0.00	
	0720	MISC. DRAINAGE FITTINGS	Material		5	Sep 17, 2023	SYSTEM	(\$6,095.00)	
					5	Sep 17, 2023	SYSTEM	\$6,095.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user streeb3 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
	0720	Total						\$0.00	
	0820	PREF THERMO PVMT MARK, 24 IN WHIT	Overrun	Overrun	23	Jun 17, 2024	SYSTEM	(\$1,040.00)	
					34	Dec 3, 2024	SYSTEM	\$1,040.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',20.00000 - 20.00000, 'is applied (if non-zero).
				Overrun - Total				\$0.00	
			Overrun - To					\$0.00	
	0820 -	Total						\$0.00	
	0840	PREF THERMO PVMT MARK, LT/RT ARROW	Overrun	Overrun	20	May 1, 2024	SYSTEM	(\$490.00)	
					34	Dec 3, 2024	SYSTEM	\$490.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',245.00000 - 245.00000, 'is applied (if non-zero).
				Overrun - To	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0840	Total						\$0.00	
	0880	6 IN. YELLOW CLASS 2 PAVEMENT MARKING PAINT (25-MIL, TYPE L BEADS)	Overrun	Overrun	20	May 1, 2024	SYSTEM	(\$350.00)	
					34	Dec 3, 2024	SYSTEM	\$350.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.20000 - 0.20000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	··· · · · ·
			Overrun - To					\$0.00	
	0880	Total						\$0.00	



Jun 5, 2025

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3414	1020	MISC.	Material		6	Oct 2, 2023	SYSTEM	(\$37,771.60)	
					6	Oct 2, 2023	SYSTEM	\$37,771.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user watkib5 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	1020	Total						\$0.00	
	1030	SH-FLAT SHEET	Material		6	Oct 2, 2023	SYSTEM	(\$322.00)	
					6	Oct 2, 2023	SYSTEM	\$322.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user watkib5 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	1030 - Total							\$0.00	
	1040	MISC.	Material		6	Oct 2, 2023	SYSTEM	(\$2,568.00)	
					6	Oct 2, 2023	SYSTEM	\$2,568.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user watkib5 overridding Payment Estimate Exception 12 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	1040 - Total							\$0.00	
	5101	TACK COAT	Overrun	Overrun	4	Sep 6, 2023	SYSTEM	(\$1,306.44)	
					19	Apr 16, 2024	SYSTEM	\$1,306.44	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',3.42000 - 3.42000, 'is applied (if non-zero).
			Overrun - Total					\$0.00	
			Overrun - To	tal				\$0.00	
	5101	Total						\$0.00	
J4S3414 -	Total							(\$23,074.95)	
Overall -	Total							(\$61,308.46)	



Contract Adjustments for Contract - 221118-C05

								• · · ·
Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
9	J4S3350	Liquidated Damage		(\$19,200.00)	100	November 17, 2023	karlic1	Per JSP B section 4.0, Liquidated damages for Road User Costs will be charged at \$3200 per day (excluding weekends and holidays) for project J4S3350. The amount of \$19,200 is being charged for 11/2/2023 to 11/15/2023 excluding weekend and holiday dates 11/4/2023, 11/5/2023, 11/10/2023, 11/12/2023. During this estimate period the dates traffic was impacted on J4S3350 are 11/2/2023, 11/3/2023, 11/6/2023, 11/8/2023, and 11/15/2023. This resulted in 6 days of road user costs (\$3200/day).
		Liquidated Damage		(\$10,975.11)	60.97283702	November 16, 2023	streeb3	Per JSP B section 3.0, Liquidated damages for Contract Administrative Costs will be charged at \$2000 per day (excluding weekends and holidays). The amount of \$18,000 is being charged for 11/2/2023 to 11/15/2023 excluding weekend and holiday dates 11/4/2023, 11/5/2023, 11/10/2023, 11/12/2023. During this estimate period this resulted in 9 days of administrative costs (\$2000/day).
	J4S3414	Liquidated Damage		(\$7,024.89)	39.02716298	November 16, 2023	streeb3	Per JSP B section 3.0, Liquidated damages for Contract Administrative Costs will be charged at \$2000 per day (excluding weekends and holidays). The amount of \$18,000 is being charged for 11/2/2023 to 11/15/2023 excluding weekend and holiday dates 11/4/2023, 11/5/2023, 11/12/2023, 11/12/2023. During this estimate period this resulted in 9 days of administrative costs (\$2000/day).
9 - Total				(\$37,200.00)				
34	J4S3350	Liquidated Damage		(\$18,000.00)	100	December 3, 2024	wilsor2	Per JSP B section 3.0, Liquidated damages for Contract Administrative Costs will be charged at \$2000 per day (excluding weekends and holidays). The amount of \$18,000 is being charged for 11/2/2023 to 11/15/2023 excluding weekend and holiday dates 11/4/2023, 11/5/2023, 11/11/2023, 11/12/2023. During this estimate period this resulted in 9 days of administrative costs (\$2000/day)
		Liquidated Damage		\$10,975.11	60.97283702	December 3, 2024	wilsor2	This adjustment is to correct Liquidated Damages that were inadvertently applied to both projects on Estimate 0009, November 16, 2023, but should only have been applied to J4S3350.
		Other Contract Adjustment	SPAD	\$10,415.68	100	December 2, 2024	wilsor2	J4S3350 Line No. 0030, Lot 2, 5,806.81 Tons at 101.5 Pay Factor (24KCD9B025)
		Other Contract Adjustment	SPAD	\$31,813.41	100	December 2, 2024	wilsor2	J4S3350 Line No. 0030, Lot 1, 6,046.43 Tons at 104.4 Pay Factor (24KCD9B024)
		Other Contract Adjustment	TSR	\$30,453.58	100	December 2, 2024	wilsor2	J4S3350 Line No. 0030, Lot 1, 6,046.43 Tons at 103 % SQ, 2,442.61 Tons at 103 % (24KCD9B024)
	J4S3414	Liquidated Damage		\$7,024.89	39.02716298	December 3, 2024	wilsor2	This adjustment is to correct Liquidated Damages that were inadvertently applied to both projects on Estimate 0009, November 16, 2023, but should only have been applied to J4S3350.
		Other Contract Adjustment	SPAD	\$28,585.38	100	December 2, 2024	wilsor2	J4S3414 Line No. 0510, Lot 1, 11,832.53 Tons at 103.1 Pay Factor (23KCD9B173)
		Other Contract Adjustment	TSR	\$27,663.27	100	December 2, 2024	wilsor2	J4S3414 Line No. 0510 11,832.53 Tons at 103 % (23KCD9B173)
34 - Total				\$128,931.32				
Overall -	Total			\$91,731.32				